Tax Implications of Business Ownership

1. Stevie Sparks owns his own business.  It is a sole proprietorship.  Use the information below to prepare Statement of Owner’s Equity for the period and calculate the dollar amount of Spark’s income tax for the year. Sparks had no other income during the period. Hint: Owner’s draw is a part of income.
a. Revenues for the period $1,450,650

b. Expenses for the period $930,474

c. Owner’s Draw for the period $30,000.

d. The beginning balance in his capital account was $1, 230,000.
e. Sparks files as married filing jointly

Sparks Company

Statement of Owner’s Equity

            For the Period Ending December 31, 20XX

Stevie Sparks, Capital; January 1, 20XX




$1, 230,000


Net Income




520,176


Less Withdrawals



(30,000)


Increase in Capital






     490,176

Stevie Sparks, Capital, December 31, 20XX




$1,720,176
Tax Calculation Using Tax Schedule Provided:

Net Income

$520,176
Draw                    
    30,000
Taxable Income
 550,176
Less tax base

-357,700

Overage

 192,476

Tax rate on overage
     x 35%

Additional Tax
  67,367(rounded)

Base Tax

  96,770

Total Tax

$164,137
2. Stevie Sparks, his brother Dave and their cousin JoAnn Stokes are equal partners in business.  Use the information below to prepare the Statement of Owner’s Equity for the partnership and determine the dollar amount of each partner’s income tax. None of the partners has any additional income.. Hint: Owner’s draw is a part of income.
a. Revenues for the period $1,450,650

b. Expenses for the period $930,474

c. Partner’s draw for the period: Stevie, $15,000; Dave, $7,500, and JoAnn, $7,500.

d. If each partner started the year with $750,000 in their partner accounts, what was the balance for each partner at the end of the fiscal period?

e. Stevie files as married filing jointly, Dave files as single, and Jo Ann files as head of household.
Sparks, Sparks, and Stokes

Statement of Changes in Partner’s Equity

For the Year Ended December 31, 20xx

      S. Sparks
                   D. Sparks

     J. Stokes

Beginning Capital, January 1, 20XX
      $750,000

       $750,000

     $750,000

Add Investments:



___


___


___

Net Income



        173,392

         173,392

       173,392

Subtotal



        923.392

         923,392

       923,392

Less: Withdrawals


          15,000

             7,500

           7,500

Ending Capital, December 31, 20XX
      $908,392

       $915,892

      $915,892
Tax Calculations Using the Schedule Provided:





S. Sparks

D. Sparks

J. Stokes

Net Income

$173,392

$173,392

$173,392

Draw                    
    15,000

    $7,500

      7,500
Taxable Income
 188,392

 180,892

  180,892

 
Less tax base

-131,450

 164,550
              112,650
Overage

   56,942

   16,342

    68,242
Tax rate on overage
     x 28%

       x 33%

        x 28%
Additional Tax
   15,944

     5,393

    19,108
Base Tax

   25,550

   40,052

    23,225
Total Tax

$ 41,494
            $ 45,445
   
$  42,333
3. Sparks, Inc has 100,000 shares of $10 par common stock outstanding.  The Common Stock Paid in Capital in Excess of Par account has $1,500,000 in it.  The retained earnings account has a balance of $230,000.  Prepare the Stockholder’s Equity portion of the Balance Sheet.   Calculate the amount of income owed by the corporation this period.
a. Revenues for the period $1,450,650

b. Expenses for the period $930,474

c. Dividends paid for the period $30,000.

d. If Stevie owns 40, 000 shares of Sparks, Inc.  How much will he receive in dividends?
e. If Stevie files as married filing jointly and has $124,000 in additional taxable income, what will his income tax amount be?
Sparks, Inc.

Statement of Retained Earnings

For the Period Ending December 31, 20XX

Retained Earnings, January 1, 20XX





$230,000


Net Income



520,176


Less Dividends Paid


  30,000
Increase in Retained Earnings






  490,176

Retained Earnings, December 31, 20XX




$720,176

Tax Calculation Based on Corporate Tax Schedule:




      Tax
$  50,000   X  15%    =    $7,500

    25,000   X  25%    =      6,250

    25,000   X  34%    =      8,500

  235,000   X  39%    =    91,650
  185,176   X  34%    =    62,960
$ 520,176  

$176,860
Tax Calculation for Stevie Based on Individual Tax Schedule:
Corporate Dividends = $.30 per share ($30,000/100,000 shares)

Stevie’s Dividend (40,000 shares X $.30)  
 $   12,000

Other Taxable Income



    124,000

Total Taxable Income



    136,000

Less Tax Base




    131,450






        4,550

Tax Rate




        x 25%







       1,138

Base Tax




       8,962







$   10,100

